General Chemistry 11 Exam 1 Practice Problems

Multiple Choice
Identify the letter of the choice that best complefes the statement or answers the question.

1. How much heat is released when 75 g of octane is burned completely if the enthalpy of combustion is -5,500 kJ/mol
CaH,5?

CgH g+ 25/2 O, — 8CO; + 9H.O

a. 7200 kJ
b. 8360kJ
c. 4.1 x 10° kT
d. 3600 kJ
e 5500KkJ

2. Calculate the amount of heat released in the complete combustion of 8.17 grams of Al to form Al,Os(s) at 25°C and 1
atm. AH? for Al,O;(s) = 1676 kJ/mol

4AI(s) + 304(g) —> 2ALO(s)

a. 254 kJ
b. 203 kJ
c. 127kJT
d. 237 kJ
e. 101 kJ

3. Given the following at 25°C and 1.00 atm:

AH’
1/2N>(g) + Ox(g) — NOx(g) 332 kJ
Na(g) + 202(g) — N204(g) 11.1 kJ
Calculate the A" for the reaction below at 25°C.
2NO»(g) — N20u(g)
a. +11.0kJ
b. +443 kJ
c. +553kJ
d. -22.1kJ
e. -553kJ
4. Calculate AH” for the following reaction at 25.0°C.
Fe;0u4(s) +CO(g) — 3FeO(s) + COa(g)
AH;J (kI/moly -1118 -110.5 =272 -393.5
a. -263 kJ
b. S54kJ
c. 19kJ
d. -50kJ
e 109kJ



